TEMPLE(Y
WEBSTER

Assembly Instruction

Item AA 1pc Item AB 1pc Item AC 2 pes Item A 31 pes Item B 17 pes Item C _ 2 pes
Headboard Footboard Side Rail Plastic Dowel ( 8 x 25) JCBC W M6 x 40 JCBC M6 x 40
1pc Item AE 2 pes Item AF 4 pes Item D 4 pes Item E 48pes | ItemF _ 46 pes
/ G- @g
Center Rail
Slat Support leg JCBC M6 x 60 CSK M3.5x 16 mm CSK M4 x 32 mm
Item AG 8 pes Item >:\ 8 pes Item Al 2 pes Item G 32pcs | ItemH 2 pes Item [ _ 10 pes
Drawer Slide 500 Drawer Slide 500 Q Side Wing CSK M4 x 50mm CSK M4 x 25 mm Mini Fix Bolt
ItemJ 10 pes Item K 10 pcs Item L _ 52 pes
Item 1 _ 2pes | Item?2 2pes | Item3 2pes | Item4 2 pes AX
. @mﬁ»: Drawer Front K . 3 x Small Drawer Back .
WM% rawer Front Panel w%% rver Back Panel Mini Fix Housing Mini Fix Cap Power Nail %
Item 5 2 pes Item 6 2 pes Item 7 4 pes Jtem 8 4 pes Item M 16 pes Item N 1pc Item O 14 pcs
_ o _| | _|
H o
Ww-m% e Botom WEm: Drawer Bottom Small Drawer Side o_ Big Drawer Side X @
anel Panel of| Panel
Lem 9 _ 8pes | lem 10 Ipe | temn Ipe | tem 12 2 pes White Nail Leg Allen Key 65 mm M6 Flat Washer
X et Lo [ remo Lo [ rome fre
S S W @)=y
Item 13 _ 2pes | ltem 14 Ipe Item 15 Ipe ltem 16 1pe
% JCBC M6 x 50 Adjuster JCBC M6 x 30
\ /|\ ? W\ /I\
Item 17 1pec Item 18 1pc




i ¢ dog mun | doig ij dwes yy ST IOMRIP
[[ews pue zomeIp S1q oy ojquiasse o) Aem oy | A

@]
<
D
g
[\
@} wn
— —
D D
= s
N o




L doig

g daig

6 do1g




ey 97 daig

0]

‘dogs owres ayy Jeadar pue

) pue

L1darg | apistomo oy 01@ digy ogp @mm 1wyt

g1 daig

¢ daig







N







